B N ERE

1. LEA4
THE4 LOHIX LR O 2 TF
T4 Beg Sd S TR VN AWIESE: (i
2. TENE
1)  FHEIT4 TFEENEBEST L % &%
2) X I f& I T2
3) T i 224 H M H 0 645 TH30H
ES SF 7T 3H10H
4) T EgE

i@ Aokt 5w m



HNERE

TH4 | REMXGUEERTO2 THE

THXSy « TfE - FER A B & & B # a1l ) 7
LiE - = 163, 299, 541
LT = 12, 855, 562
PEHI T Y 3,760,230 | #m il 5,100 m3
A A7 Uiy A
b 1 =K
+rb CE- ERREY L&) ;
HE A 1 =K
= AN T oL
AT Y 3,062, 467 | B (5E42) B+ 330 m3
2. SmA ;
PR (ZL) ik - 210 m3
2. 5mPL F4. OmART ;
PR (ZL) ik - 430 m3
4. 0mPA F
b 1 =K
+rb CE - ERREY L&) ;
A (b=27) 1 =K
+m +E50, 000m3 KT ;
B T Y 1 5,407, 765 | {EmEEETE () 156) 2,250 m2
BUGHOM V38 £ LR OWE + e L
LTI (i 1358) 800 m2
TR E D BUEHHE
BT (&) (k1) 760 m2
¥t FEDAED
e T = 1 625, 100 | E&Hh 1 =
HIFL (v-17)
PRI 2V 1 14, 455, 954
LT 2V 1 139,954 | FLmi&IE 290 m2
FRET = 1 14, 316, 000 |7 VEyahHeptk 200 m

JL-p-17-4 ;

i@ Aokt 5w m




PR NERE

TH4 | REMXGUEERTO2 THE

THXSy « TfE - FER A B & & B # a1l ) 7
77 VA bR 100 m
H-P-67H-F ;
R L 2V 1 88, 501, 161
LT 2V 1 9,526,561 |FRHEY 1 =K
L4
HWREL 1 =
FEmAETE 80 m2
A (b=27) 1 =K
+m +E50, 000m3 KT ;
b 1 =K
+rb CE - ERREY L&) ;
HE A 1 =K
= AN T oL
/) =477 ey T (av) ) =47 ny ) k) = 1 68, 416, 500 | KHU7 0y sk 2, 683 m2
3E- (KA) -1-0. 35m ;
RS L 2V 1 9,469, 500 |7 V¥yAMGAE 162 m
2 ;
SERRa )~} 510 m2
21-8-40BB W/C=60% ;
AT = 1 1,088, 600 | FE1-MKAF 370 m2
[
R 410 m2
HEZ T 300m2LL_E500m2 A5 ;
HR[E 6 T2 Y 1 34, 120, 138
LT 2V 1 545,338 | JL[EIHRIE 1,130 m2
IRE D7 wy) T Y 1 33,574,800 |fREH7 ny/BlE 392 &
4t 21-8-40BB W/C=60% ;
FRIE D7 vy s BT 392 &l
4t ;
THIEAR[E 6D 7 ny ) TE 392 |
4t ;

-2 - ESR o3 E < o] 3 ok S




PR NERE

TH4 | REMXGUEERTO2 THE

THRX Sy « Lff - fi5 Bz ¥ = & Hm a1l N 7
1 E i T Y 1 1, 852, 346
A E g T Y 1 72,326 | RpEiEIE 580 m2
fEMEL ;
TAT 7 Mg T Y 1 1, 780,020 | T &K (FiE - #EJE D) 580 m2
RC-40 t=150mm ;
FJE (B - BE) 580 m2
ARk T 227 (20)  t=50mm ;
FGan Y 1 11, 514, 380
THHEKT Y 1 44,530 | ERSF) 1 =
HAZ T vy —F 2 RC-40 JE 100mm ;
T T x 1 11, 469, 850 | {5Hi G 1- L A
TR 1 2V
RS 2V 1 163, 299, 541
st = 1 13, 191, 100
Il R Y 1 1, 891, 100
TE = 1 430, 800 | BT AL FR AR Sy fERE ST B 05 1 =
ez PRy = 1 7,300 | A5/ e HEER 1 ik
Bl RIEWER (FE L) Y 1 1, 453, 000
mEER®E (EE L) Y 1 11, 300, 000
il T Y 1 176, 490, 641
Bl H e 2V 1 43, 044, 000
T =5 =Y 1 219, 534, 641

-3 - ESR o3 E < o] 3 ok S




RN E
THE4 | SRHXEEERZO2 TF
THXSy - TH - fly HOfr ¥ & & fH # bl N i
—fRE R % X 1 33, 885, 359
T fifik& v 1 253, 420, 000
g

i@ Aokt 5w m




